














8

9,800

(O
ve

ra
ll 

he
ig

ht
) 3

,7
50

(Overall length) 12,765

4,035

1,725

(Wheel base) 1,500 (Wheel base) 4,000 (Wheel base) 1,500 1,730
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■ DIMENSIONS

■ MINIMUM RIGHT-ANGLE PASSAGE WIDTH

Note: Due to improvements, the delivered product may have specifications different from these.

(Unit: mm)
Scale: 1/100

● This model has received a “Basic running conditions - weight: D” certificate of conformance under the Newly Developed Vehicle Certificate System, 
 but the actual running conditions will be decided based on the calculations of the road administrator for each route.

GR-700N Lifting 70 t, 6-section boom, 3-section fully-automatic jib, H-type outrigger
SpecificationsModel name Specification no.

GR-700N-1-00101

The AML external warning lamp, rear monitor camera, marker lamp, and road shoulder lamp, in this drawing are options.

201503

● While turning right in the front four-wheel steering mode ● While turning right in the eight-wheel coordinated 
 steering mode

● While turning right in the rear four-wheel steering mode
R1 = 11.50 m (minimum turning radius)
R2 = 11.70 m (outside tire edge turning radius)
R3 = 12.58 m (vehicle turning radius)
R4 = 13.44 m (boom edge turning radius)
R5 = 7.06 m (vehicle inside turning radius)
  A = 5.96 m (entrance passage width)
  B = 5.96 m (tire exit passage width)
  C = 6.84 m (vehicle exit passage width)
  D = 7.70 m (boom edge exit passage width)

R1 = 7.50 m (minimum turning radius)
R2 = 7.70 m (outside tire edge turning radius)
R3 = 7.79 m (vehicle turning radius)
R4 = 9.64 m (boom edge turning radius)
R5 = 3.66 m (vehicle inside turning radius)
A1 = 4.64 m (tire entrance passage width)
A2 = 5.66 m (vehicle entrance passage width)
  B = 4.64 m (tire exit passage width)
  C = 5.66 m (vehicle exit passage width)
  D = 6.67 m (boom edge exit passage width)

R1 = 14.34 m (minimum turning radius)
R2 = 14.54 m (outside tire edge turning radius)
R3 = 15.22 m (vehicle turning radius)
R4 = 13.24 m (boom edge turning radius)
R5 = 10.33 m (vehicle inside turning radius)
A1 = 6.34 m (tire entrance passage width)
A2 = 7.02 m (vehicle entrance passage width)
  C = 7.02 m (vehicle exit passage width)
  D = 6.97 m (boom edge exit passage width)

(Note) The above numbers are 
 the calculated values.
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